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. Consider the following statements regarding the

Amateur Kabaddi Federation of India (AKFI) :

1. Itis the central governing body for kabaddi
in India.

2. AKFI oversees and regulates various forms
of kabaddi in India.

3. Its headquarters is located in Jaipur.

How many of the statements given above are

correct?

(a) Only one (b) Only two

(c) All three (d) None

. With reference to the National Policy on
Disaster Management (NPDM), consider the
following statements:

1. The NDMA, established under the Disaster
Management Act of 2005, is the apex body
for disaster management in India.

2. As per the NPDM, the National Disaster
Management Authority (NDMA) is chaired
by the home Minister of India.

3. The National Disaster Management Plan is
aligned with Geneva Convention.

Which of the statement(s) given above is/are

correct?

(@) 1 only

(c) 1 and 2 only

(b) 2 only
(d) 1 and 3 only

. With reference to the State Emblem of India,
which of the following statements are correct?
1. The State Emblem of India is adapted from
the Gateway of India.

2. It was officially adopted on 26th January
1950.

3. The motto Satyameva Jayate is inscribed
below the abacus in Devanagari script.

4. Only authorized government entities can
use the emblem.

Select the correct answer using the codes

given below :

(@) 1, 2 and 3 only (b) 1 and 2 only

(¢) 2, 3 and 4 only (d) 3 and 4 only

. Consider the following statements regarding
the Monetary Policy Committee (MPC) :
1. Itis a statutory body.

1. THER $ag! HewwH 3% Efar (AKFI) @& IR #

frfaRad weMi W faarR -

1. U8 IRd H dasl & fog dag IR Famg g

2. AKFI ¥IRd ¥ dagl & = wul @ qevyg iR
faferm s axar R

3. OGN JEId SR H Reyd T

SWR U MU Pt F 3 fbaw @& 27
(a) DI TP (b) ®aat a1
(c) = < (d) ®rE e

. I JMMYET FEee i (NPDM) & e ¥, fefalad

Pl R AR -

1. 3NUST yded TfIfEH 2005 @ TEd w@Ifid NDMA
IR H 3MMUST Hee & fofy ated e 2 |

2. NPDM & 3R, [T IAMYGT e BT
(NDMA) @1 31e2e7d] R & T[& HAT B & |

3. XY IMYST Y& AT fo1ar e & AU
=

IR U U ol H I B AT T 2 /87
(a) Daet 1 (b) waat 2
(c) ®aeT 1 3R 2 (d) daet 1 3R 3

. IR & T Ui ® Gl #, fF=faRad § 9 o9 9

HUT el 8?

1. WRd BT 5T Tdid g 3iih sfear I form mr 7

2. U AMEGIRG AR IR 26 ST 1950 DI YT
AT o7 |

3. AUHI SId & INeY ar qaarrd forfd #
AP B i 3ffhd B

4. I AP BRI FRATY & Wilb BT ISUIRT
PR Fqh B |

e fQU U PlS B SUANT HRS Al SR Fri—

(a) ®adt 1, 2 3R 3 (b) DIt 1 3R 2

(c) ®ad 2, 3 3R 4 (d) daet 3 3R 4

. Aifgs Aifg Jffa (MPC) @ Ir # fAmforRaq sl

R R &—
1. I8 Uep e e 2|
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2. It was constituted the recommendations of
the R

3. Its main objective is to set the repo rate
to achieve the inflation target set by the
government.

Which of the statements given above are

correct?

(@) 1 and 2 only

(c) 1 and 3 only

(b) 2 and 3 only
(d) 1,2 and 3

. The OECD Global Tax Deal primarily aims to

address which one of the following challenges

in international taxation?

(a) Ensuring all countries adopt the same tax
rate

(b) Preventing the use of transfer pricing and
digital taxes

(c) Combating profit shifting and tax base
erosion by multinational enterprises
(MNEs)

(d) Increasing tax rates for all businesses
worldwide

. Consider the following statements :

1. The Motion of Thanks is a formal
parliamentary procedure in India that
follows the President's Address to a joint
sitting of both Houses of Parliament.

2. Ifthe Motion of Thanks is not passed by the
Lok Sabha, the government must resign.

Which of the statement(s) given above is/are

correct?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

. Consider the following statements :

1. U.S. Dollar Index (DXY) measures the
value of the U.S. dollar relative to a basket
of foreign currencies.

2. British Pound has the highest weight in
the U.S. Dollar Index (DXY).

3. The Euro has the highest weight in the
U.S. Dollar Index.

Which of the statement(s) given above is/are

correct?

(@) 1 only

(c) Both 1 and 3

(b) 2 only
d 1,2,3

. Which one of the following is least likely to be

a direct consequence of glacier retreat?

(@) Loss of freshwater sources for millions of
people

(b) Increase in useable land area due to glacier
shrinkage

(c) More frequent landslides and avalanches
in mountainous regions

(d) Disruption of river flow patterns affecting
agriculture

2. 3IPT TS 3R BT RABIREN & MR R fhar 11
AT

3. TUPT I FeW WBR gRT FURT JarwIfa
T Bl U B B foTq T &= FiRa &A1 2|

SW 37 MY HoEi # DA A1 A 2
() @aat 1 3MR 2 (b) @aat 2 AR 3
(c) @aal 1 3R 3 (d) 1, 2 3R 3

. OECD "aHd ¢ I & J& I ARSI

e FEfaRea Aol 9 ¥ feder gHmE

PRAT 87

a) I GHIRE BT {6 T < FHM PR S UG

(b) EENARYT Hou fuiRor ik fSfed a=i & SuanT
DI RAHT

(c) IZTT I (MNE) §RT AT RIHIGRUT 3R &R
3R &ROT T HBTael BT

(d) 3FRT R F i FaarRl & oy &R )M A gy

. fFr=feRad woMT R faar av—

1. gATE IR IR H UH fuaiRe daar ufbar
2 Sl WS & QI AaHl B HYh d8d H I afd
@ ST B 91E BT B |

2. I g=IATE IRATT ATGAHT §RT IR a8l &I 8,
T ORBR DI KBTI T 1= |

R AU T B 6 F DI A1/ T 8 /B0

(a) a1 (b) Fadt 2
(c) 1 3R 2 I (d) T dar13iRTE2
. fr=ferRea @l R R &

1. JUd. SR gsad (DXY) fael gamwil @ e
ST & ATUeT YU, SeR & oI BT AT B |

2. JUd. IferR s (DXY) # fafewr uss &1 wR
SERECICES

3. YUY SfoR 390 H I &1 WK G4 10F 2 |

IR U U PoHEl § F B AT/ q e g /8?

(a) Daet 1 (b) &adt 2

(c) 1 3R 3 I (d) 1, 2, 3.

. fFrEfeiRad & & @9 91 iRk & 08 g &1yt

IR M & Fa HH AT 87

(a) @l Tt & fore M3 Ul & AT BT WH BT

(b) TERRR e & HRU IWIRT AT I &5
gf&

(c) UBTSI &rAl ¥ 3fferh IR [RIeH AR RFRger

(d) T & varg Yo # e ¥ HY gafdd 2k 2
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9.

10.

11.

12

Consider the following statements :

1. Forest in India includes all green
areas, regardless of their classification,
ownership, or whether they are officially
recorded as forests.

2. Forest land in India cannot be reduced
unless an equal amount of land is provided
for compensatory afforestation.

Which of the statement(s) given above is/are

incorrect?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

‘Vibrio natriegens’ and ‘Microbe X-32’ bacteria

were in news recently for :

(@) Their ability to degrade plastics.

(b) Their use in enhancing agricultural crop
yields.

(c) Their role in producing biofuels from algae.

(d) Their discovery as pathogens causing
waterborne diseases

Which one of the following statements

correctly defines the term ‘Gender Budgeting’?

(a) It refers to the process of allocating funds
exclusively for women’s empowerment
programs.

(b) It involves analyzing the impact of
government budgets on gender equality
and ensuring that resources are allocated
to address gender disparities.

(c) It is the practice of setting aside a fixed
percentage of the total budget for gender-
specific health services.

(d) It is the process of adjusting taxes based
on the gender of the taxpayer.

With reference to the Gyan Bharatam

Mission, consider the following statements :

1. It seeks to boost tourism through the
conservation and promotion of culturally
significant heritage sites.

2. National Digital Repository of Indian
Knowledge Systems was announced
alongside the Gyan Bharatam Mission.

3. The mission supports the government’s
efforts under the National Education Policy
(NEP) 2020.

Which of the statement(s) given above is/are

correct?

(@ 1and 2

(c) 1and 3

(b) 2 and 3
(d) 1,2,3

9.

10.

11.

12

f=forRed weMl R faR ax—

1. R # 99 § ¥ W o7 wiAa g 9 SH@T
TTHROT, W AT 9 MHIR® dR W a9 &
w0 H Tl g a1 7 |

2. 9Rd H a9 A BT q9 qH HH Tl (AT S Fehal
T4 d& & gfqRe g iexT & forg |q|e A/ |
A Suerer T BRI M |

SR AU T FHoHl § W PIF AT/ TAd §/7?

(a) dad 1 (b) DI 2

() 13IR 2 q=f (dTar1RATE2

fafgar Afgusi &k AP TRI-—32' dEIRAT BT

BRECIEDS

(a) wRed & faafed &= & ST e ar|

(b) B BHA B USMEAR q@M H IAHBI IUINT |

(c) 3ard | oI SH I H I qHBT |

(d) TSI IAT BT HROT g1 el ATToDT & ©Y
H 3@ @t

frfoiRad & & &M |1 dod SieR gaIfeT e @I

TR T ¥ gRIIT e &7

(a) TE faRy wu & Al AeRhaRy drisH & forg
¢ JMAfed B DI Ufthar o1 Hafid aar 2|

(b) SHH <ifif FAMCT TR TRENI doic & JHTd &
faeryor R SR I8 gHRed &A1 wid ©
& <ifirp sRa=aml &1 g & & oy dawrA
arrafed fby g |

(c) ' fo—faRre wrey Jarli & oy fa ol
&7 g Af¥aa gfrera orerT W &1 e 7|

(d) IT BRSO & folfT & MR WR &R Bl AARIRIA
TR B wfhar B |

=M IRAA e & dev |, FforRad wedl W faar

I

1. I8 ARPe w9 A Aedyl fRMa Wl &
TREAT IR A & AH | e dI g rar <A1
e © |

2. SN YRAA AR & Fr—1e) IR 9 gonferal
B T RTeT YeR &1 gI9om & TS |

3. fem g Rrn iy (©@EEW) 2020 & dwd
WBR & YA BT FHIT BT 2 |

SR AU T FHoAl § | P AT Hel 8 /77

(@) 1 3R 2 (b) 2 3R 3

(c) 13R 3 d) 1, 2 3
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13.

14.

15.

16.

17.

18.

Which one of the following is the primary

objective of the Jan Vishwas Bill 2.0?

(a) Increase criminal penalties for business
violations

(b) Introduce new regulations for startups

(c) Centralize all business registrations

(d) Decriminalize minor offenses and promote
ease of doing business

Consider the following statements :

1. Indiasharesitslongestborderwith Bangladesh.

2. The India-Bangladesh border passes
through six Indian states.

Which of the statement(s) given above is/are

correct?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements:

1. Small Modular Reactors (SMRs) produce
zero carbon emissions during operation.

2. The Nuclear Energy Mission aims to
promote research and development (R&D)
of Small Modular Reactors (SMRs).

Which of the statement(s) given above is/are

correct?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Which of the following countries follow ‘Jus
Sanguinis’ (Right of Blood) principle of
guaranteeing citizenship?

1. India 2. Germany

3. Canada 4. United States
Select the correct answer using the codes
given below :

(@) 1, 2 and 3 only
(c) 2, 3 and 4 only

(b) 1 and 2 only
(d) 2 and 4 only

Consider the following statements regarding
the Mission for Cotton Productivity, recently
announced in the Union Budget 2025-26 :

1. Themissionaimstoboostcotton production
by introducing new technologies to counter
declining yields and climate challenges.

2. The mission focuses on promoting short
staple cotton varieties to enhance quality
and reduce imports.

Which of the statement(s) given above is/are

correct?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements :

1. The Ramsar Convention focuses only on
conservation of migratory bird species
across international borders.

13.

14.

15.

16.

17.

18.

S faear fade 20 &1 wafe Sewg F=foiaa o

A P AT B?

() ARG Iectedl & oIy RIS a8 H ghg

(b) ¥ & forg Ay g AF] BT

(c) I ATTHTRIS TSRO BT DRI HRAT

(d) BIC STURTE] BT IR W Tch HIAT 3R ATAR B
H AT BT geTar oA

ffaRed wemi R foaR av—

1. YRA TS B ATRT U Fad oid] AT AT
BT 2 |

2. YRA—IFARY HHT B8 ARAE I8l H BIHR
TR B |

SR U U FoHEl § B AT/ W GE g /8?

(a) dad 1 (b) DI 2

(c) 1 3R 2 g (d) Far13R &2

frferRad weMt R faaR d—

1. BIc Aleder Ruaex (SMR) FAEH & IR A
PHIE IO B B |

2. TRAT] SHull e &1 I BIC Ateger Ruaexi
(TEUHIIR) & e 3R AP @R Us SI) &I
geTar I B |

SR AU T FHoAl § W P AT Ael 8 /77
(a) bae 1 (b) Fadt 2
(c) 1 3R 2 Qi (d) Far13R &2

fefaRad 3 & dF |1 qer AREGAT B TR B
forg w1 S @ @ ReR) Rigla & e
PR B?

1. 9Rd 2.

3. el 4. GFH TS JARDT
A 3 T Ble BT ITANT HRad Fqel IR Fri—

(@) ®act 1, 2 3R 3 (b) DIt 1 3R 2

(c) ®adt 2, 3 3R 4 (d) ®aet 2 3R 4

BTl 81 H Deld goic 202526 ¥ HING HUR ScaTadhdl

e & IR # Fr=foiRed doFl W TR av—

1. AP &7 Se¥g wed! UER IR Sedry gArfoal
BT DIl PR B oy 7S ThHIpl Bl U PP
HURT ITUTEA Pl FGAT <7 2 |

2. e ORI 98 SIR AT Bl HH B & g
3IfE WU HU Bl Bl gerar a7 IR disd 2 |

SR AU T FHoAl § | P AT Al 8 /77

(a) Had 1 (b) @aet 2

(c) 1 3R 2 qFI (dTar1RTE2

frferRad weMt R faaR d—
1. VAR HIE Had AW AERN $ UR
garell wefl yonfeat & GRetvr R Bfed 2
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19.

20.

21.

22,

2. In India, Kerala has the highest number of
wetlands.

Which of the statement(s) given above is/are

correct?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements regarding
the Aadhaar Authentication for Good
Governance Amendment Rules, 2025 :

1. It restricts the Aadhaar authentication to
government entities and select sectors like
banking and telecom.

2. Aadhaar authentication remains voluntary
for individuals, ensuring compliance with
the Supreme Court’s privacy directives.

Which of the statement(s) given above is/are

incorrect?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

With reference to the India-Middle East-

Europe Economic Corridor (IMEC), how many

of the following statements are correct?

1. Eastern and Northern corridors form the
backbone of IMEC.

2. Mundra port is directly linked to IMEC's
Eastern Corridor.

3. Oil pipeline is a major component of the
IMEC.

How many of the statement(s) given above is/

are correct?

(a) Only one

(c) All three

(b) Only two
(d) None

Consider the following  with reference to the core
areas of cooperation between India and ASEAN :

1. Trade and investment

2. Regional security

3. Tourism and cultural exchange

4. Space research

5. Military alliances

How many of the above is/are correct?

(@) Only two (b) Only three

(c) Only four (d) All five

Consider the following with reference to "The

Generalized System of Preferences (GSP):

1. The GSP is a trade program designed to
provide tariff free or reduced tariff access
to developed markets for exports from
developing countries.

2. The GSP was introduced by the World
Health Organization (WHO) to promote fair
trade practices.

3. The United States suspended India's GSP
benefits in 2019 due to concerns over
market access.

19.

20.

21.

22,

2. IRA #H, axel ¥ Fa9 Af¥d A € |
IR U U Pl § W B A1 TE 2 /8?

(a) ol 1 (b) Fadt 2

(c) 1 3R 2 q=r (daTar1RTE2

JATET HEA 1M, 2025 & ol IR FTofiaRor &

g # f=feRad el R AR av—

1. IT IMMER FHONHRT Bl FRGNT W13} AR dfpar
3R AR O™ FaT &3 a% Afia F=ar = |

2. IMUR AR ARKAl & fory wWied a1 ga
2, Sl galed =Rred & oEar e &1
3T gHREd R ¢ |

SR U T oAl F F B AT/ Told B/ 8?

(a) Daet 1 (b) &adt 2

(c) 1 3R 2 T (d) T dar1siRaE2

IRA—7 qI—RY 3N e (IMEC) & e+ #,
fAforRad # &1 faraw woe 9 27

1. g4t iR I TR IMEC @t g 2|

2. ¥l 9598 W IMEC & di TeRIR 4 SST 89T 3 |
3. dd UlgUAsT IMEC &l U URd b<H B |

TR feU MU fHas v wd 8 /8?
(a) DI TH (b) Haet ar
(c) =¥ <= (d) ®BIg &l

AR SR SARRAM & I FEART & G &3l b Aaw
H FrfaRad w R o

1. MUR 3R e

2. & el

3. Wied R ARGId MaH—Ha
4. AR I

5. I=T TSGR

SWYh H ¥ o |el &?

(a) @act ar (b) daar W
(c) ®ad IR (d) &1 dr=

ARG Rl UoTel! (GSP) & ey H frferRad

TR IR a—

1. GSP U& &R &ri%H & o e <o |
fra & forg faefa aoiRl & SR% 476 a1 &4
<R uga Te™ &R & forg feairs fava mam 2 |

2. e =R vemsii @ gerar <° @ forw fawg
R WS (WHO) §RT GSP &1 O3 Bl
TS o |

3. gTH T IMRBT 7 IR Ugd W Ricmsii & BrRor
2019 % YR & GSP ami &l Aefda & |
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23.

24,

25.

26.

27.

How many of the above is/are incorrect?
(a) Only one (b) Only two
(c) All three (d) None

.The Five-Point Consensus (5PC)is associated
with which country's political crisis?

(@) SriLanka (b) Myanmar

(c) Afghanistan (d) North Korea

Which of the following statements are correct
in respect of economic reforms highlighted in
the Economic Survey 2024-25 :

1. The survey proposed the introduction
of a single-window clearance system for
businesses.

2. It suggested a further simplification of the
GST structure.

3. It recommended a gradual reduction in
corporate tax rates.

Select the answer using the code given below :

(@) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1,2 and 3

Consider the following with reference to the
factors that can contribute to an increase in
the fiscal deficit :

1. Rise in government spending

2. Decrease in tax revenues

3. Increase in public sector disinvestment

4. Higher interest payments on previous
borrowings

Select the correct answer using the codes
below :

(@) 1 and 2 only
(c) 1,2, and 4 only

(b) 2 and 3 only
(d) 1,2,3,and 4

Consider the following statements regarding

inflation in India :

1. The retail inflation is based on the
Consumer Price Index (combined).

2. The medium-term inflation target set by
the RBI is 4+/-2 percent.

Which of the statements above is/are CORRECT?

(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Which of the following statements about

asteroid Bennu is NOT correct?

(a) It is a near-Earth asteroid with a very high
probability of impacting the Earth in next
50 years.

(b) It is a carbonaceous asteroid and is rich in
organic compounds.

(c) It was the target of NASA'S OSIRIS-REx
mission, which successfully collected a
sample of its surface material.

(d) It is believed to be a remnant of the early
solar system, dating back to its formation
about 4.5 billion years ago

23.

24.

25.

26.

27.

Suh H ¥ fobert Terd &2

() DI TP (b) ®aat QI

(c) | &= (d) @S =&l

gig I WEAfd (SPC) fhd <91 & IoHIfae ddhe |
eI &7

() #Ndi® (b) RMR

(c) BT (d) SR HIRAT

3t HaeTor 2024—25 ¥ V@ifdd e GuRl & Haer
# fHfaRad 3 9§ B | HAF a5

1. |der # FaAR & oy tha—Ragad! Farh
YOIl 3% R BT IR B |

2. 3O SIUHE] WRET Bl 3R Wl 9 BT GITd
fer |
A BIART PR & H HiAD HHI B RIBIRIT B |

ﬁf&qwmmdqum PR IR Fri—

(a) ®adt 1 3R 2 (b) daeT 2 3R 3

(c) @aal 1 3R 3 (d) 1, 2 3R 3

RIS |1 ¥ gl H INTE o drel $RPI & Faw

H FrfaRad W AR &v—

1. AN Td ¥ ghg

2. PR IARI H FA

3. WrasI+e & & fafraer 7 gfg

4. fisel SR R I= A1 A

A7 oY 7Y HIE FT SYANT TR FEl IR Fri—

(@) ®ad 1 3R 2 (b) DI 2 3R 3

(c) ®act 1, 2 3R 4 (d) 1, 2, 3 3R 4

TRA H GERWI & TRl H FfeiRed el R R e

1. Xl GERBIfT SUFIhI oI gAdid (Agth) TR
3R & |

2. RBI gRT iRa 7egq s@fe &1 qarwifa ded
4+ /-2 Uferera 2 |

SIRRH HAAT | F DI A el 8 /80
(a) Daet 1 (b) &adt 2
(c) 1 3R 2 THI (d) T dar1siRaE2

goUs 9= @ IN H FAfaRed 3 ¥ SF A1 B |

TE 87

(a) I8 U Mdc—gedl gaus ¢ foTad 3Tel 50 g9
# godfl & cHRM B 9gd NS G B |

(b) TE U PBEIIh gaUE & AR BEH D 4
g B

(c) I8 NASA ds OSIRIS-REU M &1 @&y
o, M sHd! adg & WAl &I U THAT
AHIAIgdD Th T |

(d) TE T 45 Ao a¥ ugel gaa AW & G
I B URME AR Heel BT Iy HET Sl &
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28.

29.

30.

31.

32.

Consider the following statements regarding

headline and core inflation :

1. Headline inflation includes the prices of
volatile items like food and fuel, while core
inflation excludes them.

2. Core inflation is a more stable measure of
underlying inflation trends because it is
not affected by temporary price shocks in
food and energy markets.

Which of the statements above is/are
incorrect?
(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

The drug Suzetrigine, recently approved by
the US FDA is used for

(a) Treatment of hypertension

(b) Antiviral therapy for influenza

() Management of chronic pain conditions
(d) Treatment of bacterial infections

According to the constitution, the President

address both the houses of Parliament :

1. Before the declaration of General Election
(Lok Sabha) by the Election Commission.

2. At the beginning of the first Session after
each general election when the reconstituted
Lok Sabha meets for the first time.

3. At beginning of the first session of each year.
4. At the beginning of each parliamentary
session.
Which of the

incorrect?
(@) 1 and 2 only
(¢) 3 and 4 only

statements above is/are
(b) 2 and 3 only

(d) 1 and 4 only

Aegean Sea is not border of which of the
following countries?

1. Italy 2. Croatia

3. Greece 4. Turkey

Select the incorrect answer using the code
given below :

(@ 1,2

(c) 3 and 4 only

(b) 2 and 3 only
(d) 1, 3 and 4 only

Consider the following statements regarding

Goods and Service Tax (GST) :

1. At present, GST has four tax slabs.

2. Instead of GST, a compensation cess is
levied on coal and petroleum products.

3. GST revenue collection has been rising
consistently month-on-month in the past
one year.

How many of the above statements are

correct?

(a) Only one

(c) All three

(b) Only two
(d) None

28.

29.

30.

31.

32.

TEATST 3R PR FERWIfd & IR # F=ferRad werr

R fIaR d—

1. TSced eRWIfd # @rer SR go9 iR aIReR
Ig dIE% @l T

2. HR EIEBIG Jdfed qermifa Wil & 6
s Rer SU™ ® Fife I8 @M 3R SHoff
ORI ¥ IR I SIchl I g9Ifad el Bl
=

ST H H DI AT HAF Teld 8,/ 57

(a) dad 1 (b) DI 2

(c) 1 3R 2 T (d)Fdar1s3iRaE2

BT & # US FDA §RT JgHIfed &ar golfgRa &
SYART e forg famam e 2

(a) ST THATY BT SUAR

(b) SUHUST & foTU UETaRRe oRdY

(c) RFT =& @1 Reafa o1 yeeg=

(d) SETY] HhHUT BT IURR

U™ & fUR, Uy WEe & QM 9eAl @l

AT B T

1. YA AR §RT 3MH AT (ATHAT) B SO A
Ugd |

2. AP M GG S dI% Ul TF PI YB3 H 14
gTIfed drbaHl Tgell IR e B |

3. UAP 9Y & Ul AH Bl YA H |

4. YD GACI T DI YA H |

ST H H DI AT HAF Teld 8,/ 57
(@) @adt 1 3R 2 (b) Bact 2 3R 3
(c) ®aa 3 3R 4 (d) Daet 1 3R 4

TRRE IR fAefoRad & 9 fbd <o @1 ar =6
ST B

1. scell 2. IURET

3. W4 4. GO

A T T Ble BT ITART WS TeAd SR Gri—
(@ 1,2 (b) @aat 2 AR 3
(c) ®aa 3 3R 4 (d) daet 1, 3 3R 4

ATl 3R ¥aT &) (GST) & day # fr=faRad wemi

R IR d—

1. A #, GST # IR & w9 € |

2. GST & 9, Pl 3R UgIfergH SEl R
&frgfil IuUBR T S ® |

3. el U6 A& # GST oG AUE AR
HEM—S—HE 9¢ &l 2 |
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33.

34.

35.

36.

37.

38.

Consider the following statements regarding

Apogee and Perigee :

1. Apogee is the point in an orbit where a
satellite is farthest from the Earth, while
Perigee is the point where it is closest to
the Earth.

2. The speed of a satellite is maximum at
Apogee and minimum at Perigee due to the
conservation of angular momentum.

Which of the statements above is/are
incorrect?
(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Consider the following statements regarding
Very Short-Range Air Defence System
(VSHORADS) :

1. VSHORADS is a 5th generation, long-
range, vehiclelaunched air defence system
designed to intercept ballistic missiles.

2. The development trials of VSHORADS
included tests against high-speed targets
flying at very low altitude.

Which of the statements above is/are
incorrect?
(a) only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Recently, which country has introduced
the Department of Government Efficiency
(DOGE) to maximize governmental efficiency
and productivity?

(a) United Kingdom

(b) South Korea

(c) Japan

(d) United States of America

Under which Article of the Indian Constitution is
the presentation of the Union Budget prescribed?
(a) Article 110 (b) Article 112
(c) Article 113 (d) Article 115

Consider the following with reference to types of
crops included under the Prime Minister Dhan-
Dhaanya Krishi Yojana :

1. Food crops 2. Cash crops

3. Horticultural crops

How many of the above is/are correct?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following with reference to the
sectors not covered under the UDAN scheme:
1. Regional commercial aviation

2. Helicopter services

3. Seaplane services

4. High-speed railway transport

How many of the above is/are correct?

(a) Only one (b) Only two

(c) Only three (d) All four

33.

34.

35.

36.

37.

38.

SRRE B H 4 fhas dar 87
(a) DI TP (b) ®aat QI
(c) | &= (d) @S =&l

3l AR WA & IR FEfoRed FeM R AR e

1. 3ol U Penl H 98 fdg © o6l U SuUg gedl
I F R BT ©, Sdfe URE g8 fdg 2 el a8
gl & | frae Bar 2

2. B IRY & HRETT & HROT STIE B ITfT 37arSh
R Af¥HaH R IR W REGH Bl 7 |

STYh HAAT H F DI A1 /A Td 8 /57

(a) Daet 1 (b) &adt 2

(c) 1 3R 2 q=I (dTar1RTE2

T80 ¥ U Bl drg e Horell (VSHORADS) & dR

# fr=forRed wort R AR e

1. VSHORADS U& 5di UIgl @I, ofdl g1 &I, ar8
A Y&Ifud aryg <& yorel! & R dfeiRes gl
BT B B oy feSre fobar =1 2 |

2. VSHORADS & fder Ui § 9gd &4 s W 37
dret I IR Tt el & RacTh aer e 9|

SRIE BIAT § H DI AT/ Todd 8 /87
(a) bact (b) Pae 2
(c) 1 3R 2 qFI (dTar1RTE2

BTl & H, fd <9 7 IR <erar iR STEHhdT B
JMHTH B B foly TRHRI qeqdT favmT (DOGE) @t

YBRATT D 27
() TTETS fobered (b) aferor BRar
(c) Sirar (d) FgH 5T IHRDI

IR Adu™ & {64 geee & ded dald doic 3
wgfer FefRa 272

(a) 3T 110 (b) 3TTHBT 112

(c) 3T f=wE 113 (d) 3rg=8T 115

VAT g4I P AT & Ted WA BEal &
THRI & ded # fFrefafad R faar av-

1. T B 2. Hal B

3. qUTAl H¥el

ST H ¥ fha we € /87

(a) ®ad TH (b) Haet ar

(c) = = (d) ®1g &

SSF AT & Jd A 7 fPu 71U &= & ey o
frforRad R faaR ae—
1. e aIftiigs faam=

2. ToHIex JaTg

3. e Han 4. TE—IS Ydd uRasd
SWYh H ¥ fdbaT |el 87

(a) DI TP (b) ®aat QI

(c) ®aa d= (d) 1 =R
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39.

40.

41.

42,

43.

Consider the following statements :

1. The NVS-02 satellite is a part of India's
NavlC navigation system.

2. NVS-02 is equipped with an indigenous
Rubidium Atomic Clock for precise
timekeeping.

Which of the statements given above is/are

correct?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Which of the following statements are correct
in respect of the conflict in Democratic
Republic of Congo :

1. President Paul Kagame, a former guerrilla
leader, has modernised Rwanda's economy
and built a disciplined military.

2. Rwanda has no involvement in the current
conflict in the Congo and has maintained
a neutral stance.

3. Goma is described as a mineral-rich city
in the eastern Democratic Republic of the
Congo.

Select the answer using the code given below:

(@) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1,2 and 3
Consider the following with reference
to components of PM KUSUM (Pradhan

Mantri Kisan Urja Suraksha evam Utthaan

Mahabhiyan) Scheme :

1. Installation of solar-powered agricultural
pumps

2. Solarizing existing grid-connected pumps

3. Setting up decentralized solar power plants

How many of the above is/are correct?

(a) Only one (b) Only two

(c) All three (d) None

What will the National Mission on Edible Oils
improve in India?

(a) Consumption of palm oil only

(b) Oilseed processing capacity and technology
() Reduction in edible oil prices

(d) Oil import duties

Consider the following with reference to the
principles of World Trade Organisation :

1. Protectionism

2. Free trade without restrictions

3. Non-discriminatory treatment

4. Setting trade quotas

How many of the above is/are correct?

(a) Only one (b) Only two

(c) Only three (d) All four

39.

40.

41.

42.

43.

frfeRad deMi W faarR ax-

1. NVS—02 SUTE YRd & NavlC e Req &1
TP TR B |

2. NVS—02 wiId wHI—feRor & fou waesh
Sfafeam w=am o & gaford 2 |

SUYH BUHAr H T B AT GE g/ E

(a) dad 1 (b) DI 2

(c) 1 3R 2 qFI (dTar1RTE2

B ABaid TR § dgY @ dae # fmforRad

H Y B A U FE o

1. rgUf Ufd BETH, ST US 94 IReam =ar o, 3
IqieT Bl referaRedT HT Mo fhar 7 3iR
TS SRR AT T T far 2

2. B H gauE Gud # arsr @ BIs 9FieRy T8l
2 3R ST T B9 T G ¢ |

3. WM B BT & Ydi Alhdiiad ORI H UdH
Qo] g e P wU H giofd fear mar g |

A 3T Y Ble BT ITART B IR Fri—

(a) ®ad 1 3R 2 (b) daeT 2 3R 3

(c) ®aaT 1 3R 3 (d) 1, 2 3R 3

GIgq A (A [P Soll QR Ud S
HEIRA) AT & Tchl & dad H HHfoRad &)
faR -

1. AR Sl ¥ el arel Y Gul &7 e

2. HAoE e 9 g3 Ul @I 9R ol F I

3. fI@=ipd 4R ST FIAT B YT

Sudth A W e e 87

(a) Padt TP (b) et &1

(c) | &= (d) @IS =&l

Qe dall W LR FRE 4R 3 a1 GEaR HM?
(a) ®aeT UM T B Tud

(b) et TRARHROT e IR Hrenfirast

(c) @Ta Id & dFarl § HHI

(d) T AT Yob

favg IR GTed & Rigial & ey # fAEforRed W
faaR w—

1. REIUTAT

2. wfiEdl & 991 36 AR

3. IR—9eHaYl FaER

4. UR Pt FEiRT BT

SWh H ¥ BT |el 8?

() DI TP (b) ®aet a1
(c) ®aa d= (d) 1 =R
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44,

45.

46.

47.

Which of the following statements are not

correct in respect of the Dollar Index:

1. A rising Dollar Index indicates a stronger
US dollar against other currencies.

2. The index is directly controlled by the US
Federal Reserve.

3. The Chinese Yuan (CNY) is included in the
index.

Select the answer using the code given below:

(@) 1 and 2 only (b) 2 and 3 only

(¢) 1 and 3 only (d) 1,2 and 3

Consider the following statements regarding

Election Commission of India :

1. The Election Commission of India is a
constitutional body established wunder
Article 324 of the Indian Constitution.

2. The Election Commission of India is
responsible for conducting elections to
the Lok Sabha and Rajya Sabha,whereas
State Election Commission is responsible
for conducting election to the State
Assemblies.

3. The Chief Election Commissioner (CEC)
can be removed from office in the same
manner as a judge of the Supreme Court.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements regarding

Blood Cancer :

1. Blood cancer primarily affects the
production and function of blood cells in
the bone marrow.

2. Leukemia, lymphoma, and myeloma are
the three main types of blood cancer.

3. The cause of blood cancer is limited to
genetic factors only.

How many of the above statements are

correct?

(a) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements regarding

Fentanyl :

1. It is a potent synthetic opioid drug
significantly more potent than morphine.

2. Itis approved as a powerful anti-histamine,
used for the treatment of allergies.

Which of the statements above is/are
incorrect?

(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) none

44.

45.

46.

47.

SfeR 3o & way # =feiRead # & a9 |1 e

SEHERR

1. 9gdT SfeR $Sa9 3 GERll & YdEd Folgd
IR €elR T SRTT BT 2 |

2. SSa B WY MRS Bexel Rord gRT Hfa
fobar ST 2|

3. I JaIT (CNY) Ssad # et 2 |

A9 fQU Y BlS BI SUANT HRD IR Gri—

(a) ®adt 1 3R 2 (b) daeT 2 3R 3

(c) ®aaT 1 3R 3 (d) 1, 2 3R 3

R & gAd AN @ Hey H EfaRad duEl w

faam a—

1. 9Rd BT gAE AN ARG WAEH & Jw0a
324 & Teq WG Ve daante Fe 2|

2. MRA &I A AR AHTAT AR 5T B
Fa FRE B oy RBFER &, Safd 59 gamE
IR I fAg=arall & gAad dRE & oy
e € |

3. & GG 3TYeH (FeHN) DI I RS US A BT
ST AT & oI |area ArdTerd & AT @l
BT SIMCT © |

IR FHUAr § F fa T 2
(a) @It Tb (b) ®aat QI
(c) <l (d) P13 &

I DR B G H FrEfoiRad HFl W AR B

1. X DR = B A 3MReT Aol H Ih BIRTH13I
P I AR BRI Pl JHIAT PR & |

2. BT, fFhMT iR AAR Wh HER d d
T TR & |

3. Xh DER Pl HRU DHacl AP BRDI TP
A 21

STAE weAr # I fraw W@ F?
(a) DI TP (b) ®aat a1
(c) i (d) P13 &

WedAgd ® ey § fAFfeIRad doMl R faaR -

1. g8 Hifbd B AT H PIHI 3AeH ARHAT b
spaTel Rigfes snfiengs gar 2|

2. U Yool & SR & forg SUANT fHy S aret
U Rpeel US—fevermes & wu # gAIfed
oo T 2 |

STYH HUHr H F DI AT AT B /7
(a) Daet 1 (b) &adt 2
(c) 1 3R 2 g (d) PIg TEI
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48.

49,

50.

Which of the following statements regarding

parliamentary privileges in India is correct?

(@) A privilege motion can only be moved
by the Speaker of the Lok Sabha or the
Chairman of the Rajya Sabha.

(b) The Speaker/Chairman has the final
authority to decide whether a matter
constitutes a breach of privilege and
whether a privilege motion can be admitted.

(c) The Privileges Committee is headed by the
Prime Minister.

(d) Breach of privilege is a criminal offense
under the Indian Penal Code (IPC).

The landmark case of A.K. Gopalan vs the

State of Madras (1950) dealt with...

(a) The constitutional validity of preventive
detention laws under Article 22.

(b) The violation of fundamental rights under
Article 19.

(¢) The interpretation of the term procedure
established by law under Article 21.

(d) All of the above

Consider the following statements regarding

Repo rate :

1. The repo rate is the interest rate at which
the Reserve Bank of India (RBI) lends
money to commercial banks.

2. An increase in the repo rate typically
makes borrowing cheaper for businesses
and individuals, pointing towards a
contractionary monetary policy.

Which of the statements above is/are correct?

(@) Only 1 (b) Only 2

(c) Both 1, 2 (d) None

a4

48.

49.

50.

ARG H S fRMeR! @ ar ¥ fA=fofaa 4 9

DI AT HAT TR &7

(a) fRWd®R U@ dad ATHAEHl & Aegel AT
ST & |HTAfT gIRT &1 9T fham <1 |ehar 2|

(b) 3T /FAMRT & U I8 T BT BT A
AFR & & B AW fARWeR &1 Sectad
g a1 T IR T fRIfeR uxaE &I WaR
far ST AT B

(c) faRmTfeR afffd @ sruear ga=H= &vd € |

(d) foREISeER &1 Seeta MR &€ dfear (IPC) &
T8 Udh ARSI & |

TP, AT 99 75T 1T (1950) # fferRaq wR

faarR foar ™ o—

(a) 3JeBT 22 & ded MaR® FRY HEI 3
et JerdT |

(b) BT 19 & TEd Hifeld IMADRI BT Ieie |

(c) BT 21 & T8 BT R WA UfhAT W=
D IR |

(d) SIRH T

T &R § dey H FEfeRed @Ml R R ax-

1. NOT R 98 91 R & o )R 9RAg R4 d%
(RBI) aifoiisae St &1 397 SuR < § |

2. XU R gy 3 dR W qari R @Rl &
foIT SR 91 W1 9997 &, S b AegaTdr]
Afsd AT @ AR FIRT Bl 7 |

SWYth BT H F DI AT Al 5,/ 8°
(a) Baef 1 (b) Bad 2
(c) I 1, 2 (d) P1E &

a4
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1. Answer : (c)

Exaplanation : AKFI is the central governing

body responsible for regulating and promoting

kabaddi in India.

e AKFI oversees and regulates various forms
of kabaddi in India, including national and
international tournaments.

e Theheadquarters of AKFlislocated in Jaipur.

2. Answer : (a)

Exaplanation The NPDM specifies that

disaster management is primarily the

responsibility of State governments, which
undertake relief and response measures using
the State Disaster Response Fund (SDREF).

e The central government supplements these
efforts through financial and logistical
support and provides additional assistance
from the National Disaster Response Fund
(NDRF) in severe cases.

e The NDMA, established under the Disaster
Management Act of 2005, is the apex body
for disaster management in India, and it is
chaired by the Prime Minister of India.

e The National Disaster Management
Plan (NDMP) is aligned with the Sendai
Framework for Disaster Risk Reduction
(SFDRR) 2015-2030.

3. Answer : (c)

Exaplanation : The State Emblem of India

is adapted from the Lion Capital of Ashoka,

located at Sarnath, Uttar Pradesh.

e In the adopted version of the emblem, the
bell-shaped lotus beneath the abacus has
been omitted.

e The State Emblem of India was officially
adopted on 26th January 1950, the day
India became a republic.

e The motto "SatyamevaJayate" (Truth Alone
Triumphs) is inscribed in Devanagari script
below the abacus of the Lion Capital.

e The use of the State Emblem is restricted
to authorized government entities, as per
the State Emblem of India (Prohibition of
Improper Use) Act, 2005.

1. SR : (o)
AT : AKFI RA # ®ag! & fafafia &= iR
gear 34 & forv RmieR @ Il fer 2
e AKFI 9Rd H T 3R IIRMERT TARCST Afled Hag!
3 faf=T waT & < 3R fafaaT oxar 2 |
e AKFI &1 el SAYR H Rerd g |

2. 3R : (a)

T : TAaeIvH [Afde wRar & e yde

R B} IS WRBRI DI TSR 8, Sl 5 3M9&T

gffshaT BT (THSIRIRU®E) &1 SUANT HRd A AR

gfifshar U &R § |

o oz AR iy R g HAeRdl & ArgH 3
1 WMl B YRéb IR B AR THR AHAT H
TSERT 3MMUET UfIHAT BT (TTSIRIRUB) 3 1faRs
TETIAT YT HRT 2 |

o 3[TUST U&eH AfAIH 2005 & TEd AMUT UTSITHY
HRA ¥ MU Jeed @ forv watea e g, iR
S AL YR © T H3l B 2 |

o I IMMUST YEuH AT (TTSITAU) BT 3MMUST
SIREA LAIDHROT (THUHSIRRSIR) 2015—2030
forw e wHaw & Ay WRRad fhar T B |

3. SN - (o)

AT : IR BT I g SR WY & ARART §

Rera arene & Rig W & forar mar 21

o YIdh & IAUATY U FXHRUT H, W & A1 Gl
@ 3MBR BT HHe gl fadm 1T B |

o YRA & U fUg &7 MO®HRed dR W 26
ST 1950 DI (=TT AT o, O fod wRa
Ueh TOT & T |

o RiE WY & W & A ey foIfy # \eawg
S (A B E Sid BT B) BT eel arad
3ffpa 2 |

o YRA & T fB (erfod Swam &1 fmw)
=™, 2005 & IR, ST I8 BT IUANT
Tpd TR HRersl aw & AT 2|
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4. Answer : (c)

Exaplanation: The Monetary Policy Committee

(MPC) is a statutory body established under

the Reserve Bank of India Act, 1934 (amended

in 2016).

e The primary objective of the MPC is to
determine the repo rate to achieve the
inflation target set by the Government of
India in consultation with the RBI.

e The inflation target is currently set at 4%
* 2% (i.e., 2% to 6%) under the flexible
inflation targeting (FIT) framework.

e The MPC was constituted based on
the recommendations of the Urjit Patel
Committee (2014).

. Answer : (c)

Exaplanation : Combating profit shifting and
tax base erosion by multinational enterprises
(MNEs)

. Answer : (c)

Exaplanation : The Motion of Thanks is a

parliamentary procedure where members

express gratitude for the President's Address,
which outlines the government's policies and
agenda.

e It is discussed and voted upon in both
Houses of Parliament after the President's
Address, as mandated under Article 87 of
the Constitution.

e If the Motion of Thanks is defeated in
the Lok Sabha, it amounts to a defeat of
the government, as it reflects a lack of
confidence in the ruling party.

e This could lead to the resignation of the
government or a requirement to prove its
majority through a confidence vote.

. Answer : (c)

Exaplanation : The U.S. Dollar Index (DXY)

measures the value of the U.S. dollar against

a basket of six major foreign currencies : the

Euro, Japanese Yen, British Pound, Canadian

Dollar, Swedish Krona, and Swiss Franc.

e The Euro has the highest weight in the
U.S. Dollar Index.

e Arising USDX can lead to higher borrowing
costs for emerging markets that rely on
dollar-denominated debt.

. Answer : (b)
Exaplanation : Increase in useable land area
due to glacier shrinkage

4. IR : (o)

e - Aifgs DT affa (@EdRD) wrda Red 9@

AT, 1934 (2016 H HAAT) & ded w@fUd U&®

Jenfas fem 2 |

o TAURY &1 WIAG LTI IIRARME & WS A
IR TR §RT MR GeRoIfd e o1 o
P B forg NI &R iR & 2

o TIAM ¥ Adldl JERWIMT o6 (THaAET)) 3d &
TEd qEIbIa ded 4% + 2% (I, 2% A 6%)
fReiRa far Tar 7|

o TAURN &I oa SKid uca wAfdfa (2014) @t
RAmTIREN & 3R R fhar a7 o |

. 93N & (¢)

AT - IEIIIT STl (TAUAS) §RT A RIIART
3R PR IR &ROT BT GHIGA BRAT

. 3TN & (¢)

AR : g=aIg YA Uh [aar ufhar g, o

I IMCAfT & AHOT & v MR &b R ©,

R TReR BT Aol iR Tols &7 It BIAT 2

o WfAUT & 3o 87 @ dad UM & AT
@ 91 9¥S & Gl GeAl | 59 W Tl dl Sl
g 3R AaeH fBar e 2 |

o IR FIHaWT # g=are yxaEd RR S7dar &, o I8
WHR P! BR & &R &, Fifdh IJg AAOe &l
¥ fazar & HH B AT B

o U WRBR Bl SHIBT T Us HhdT © IT favary
A & ARIH H IgA AT B DI aTIHAT B
GELI

. 9N & (¢)

AT - U4, Siek $sad (DXY) B8 yqg@ fageh

HoT3il BT T SIaA™] & ool JUA. SlelR & HI Bl

AT & R, SO 39, e ks, FAers SR,

TS BT 3R Rad Wb |

o IJUA. SfeR ST H IR HT aoi T 1T 7 |

o JUASIU. H gfg W IR IRl & oIy SR
T B AN 9¢ Fhdl & Sl SfeR—HegdTd FoT
R R B 2

. BTN - (b)

[N [N

AT : WRRR AgeT & HRI IR A7 9H

& ¥ 9f
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10.

11.

12

13.

14.

. Answer : (d)

Exaplanation : According to the Supreme
Court's 1996 judgment in the T.N.
GodavarmanThirumulpad case, the term forest
has a broad and inclusive definition.

e It includes not only officially recorded
forests but also any area that fits the
dictionary meaning of a forest, irrespective
of its ownership or classification.

o The Supreme Court has ruled that no forest
land can be reduced or diverted for non-
forest purposes unless compensatory land
is provided for afforestation to offset the
loss.

Answer : (a)
Exaplanation : Their ability to degrade plastics.

Answer : (b)

Exaplanation : [t involves analyzing the impact
of government budgets on gender equality
and ensuring that resources are allocated to
address gender disparities.

Answer : (b)

Exaplanation : The Gyan Bharatam Mission

focuses on the survey, documentation, and

conservation of India's manuscript heritage, not
on boosting tourism or promoting heritage sites.

e The mission is seen as a revitalization of
the existing National Manuscripts Mission
(NMM), which was established in 2003 but
had not achieved its full potential.

e A key component of the Gyan Bharatam
Mission is the establishment of a National
Digital Repository of Indian Knowledge
Systems, which will digitize and centralize
traditional knowledge, making it accessible
to researchers, students, and institutions
worldwide.

e The mission supports the government’s
efforts under the National Education Policy
(NEP) 2020.

Answer : (d)

Exaplanation The primary objective of
the Jan Vishwas Bill 2.0 is to decriminalize
outdated and minor offenses, replacing them
with civil penalties or administrative actions,
and to simplify India's legal framework to
enhance the ease of doing business.

Answer : (a)

Exaplanation : India shares a 4,096 km long

border with Bangladesh, which is the longest

land border India shares with any country.

e The India-Bangladesh border passes
through five Indian states: West Bengal,
Assam, Meghalaya, Tripura, and Mizoram.

9.

10.

1.

12.

13.

14.

8N ¢ (d)

ARAT - AGA. e regade ame H guA

PIC D 1996 D BA B JJAR, 99 & DI T ATID

3R FHTRN aRMTT 7 |

o SUH T Pad JABIRG ®T A Tof g9 AT 2,
afeds B W1 &F Sl a9 & i 31 7 fhe
JodT 2, 918 SA®] WG AT DR BB AT 8 |

o M B o hel AT & b fB ot a7 9y
IR—a=1g Ieedl & oIy &8 a1 Sac =8l
ST FHAT &, 59 qb (b JHAN B 4RUTS & o1y
AIHROT & foTy gfeqRes YA U&= 781 o Sl @ |

89X : (a)
AT : Red bl [Aafed a1 B IdT eTHdT |
IR - (b)

R : 30 i FHHAT TR IRBNT Iolc B U9

BT 4TIyl HRAT 3R T8 JiHAREd B et & fh

SiffTd AR BT §R &R & forg e ardfed

fy g |

¥TX : (b)

AT © oF YRaH A 9Rd @1 aigferfd favmdd

@ eIV, TRATISHHROT R AReUT R Bfed 8, 7 &

T BT geTaT < AT faRTad Jerel & 9grar 37 W |

o e &1 HAiE g urgferl fAvE (TgAYH)
$ JRER & W9 H @ o1 &, o 2003 H
Teqfua foam o, o S8 QU+l QX &y
g 8l BT ot |

o I YRaH A &1 U ygE Uch ARG o
gonferal & T I f$fied YR & U B,
S aRuR® =M @I f$fed iR SHdipd
& folu g9 81 SIQ |

o fiod Iy frem Ay (THEW) 2020 & o=
AR & YN BT qALAT BT ¢ |

IR : (d)

AT - v favard fage 20 &1 wafie Sew
TR 3R BIC FURTET Pl JURTERD HRAT, I I
R fHfdd g a1 Ueae BRATS HRAT dAT TR
PR H M o @ foy IR & BN o DI
IRl ST B |

89X : (a)

TAT : YRT AR & AT 4,096 fharex oidy

AT TR BRAT ®, S ol o <2 @ AR IRT Bl

NENEGEIRSEIR ARSI

o YRI—IFARY AT U 9RAT AT A BB
TOIRAl & Ui¥em §9Te, 3rqd, Hererd, PR SR
fAeRA |

29, Kailash Vihar, Behind St. Conrad's Inter College, Khandari, Agra (UP) PH. 9720999654, 9219631474

www.centreforambition.com : O t.me/centreforambitionias



4 | CENTRE FOR AMBITION An Institution for Civil Service

15.

16.

17.

Answer : (c)

Exaplanation Like traditional nuclear

reactors, SMRs generate electricity through

nuclear fission, which does not produce
carbon emissions during operation.

e The Nuclear Energy Mission, announced
in the Union Budget 2025-26, focuses
on advancing R&D for SMRs and aims to
operationalize five indigenous SMR units
by 2033.

e SMR can be machined separately, then
assembled in a factory and transported to
the site rather than having to be built on
site.

e Scientists are also exploring even smaller
reactors called microreactors, which can
generate 1-20 MW of power.

Answer : (b)

Exaplanation : India- India primarily follows

the Jus Sanguinis principle, where citizenship

is determined by the citizenship of parents,
especially after amendments to the Citizenship

Act, 1955.

e Germany- Germany also follows the Jus
Sanguinis principle, where citizenship is
based on descent from German parents
rather than place of birth.

e Canada- Canada follows the Jus Soli (Right
of Soil) principle, granting citizenship to
anyone born on Canadian soil, regardless
of their parents' citizenship.

e United States- The United States primarily
follows the Jus Soli principle, granting
citizenship to anyone born within its
territory as per the 14th Amendment to its
Constitution.

Answer : (a)

Exaplanation The Mission for Cotton

Productivity, as announced in the Union

Budget 2025-26, focuses on improving cotton

productivity through advanced technologies

and scientific support.

e It specifically addresses challenges like
declining yields, stagnant production, and
climate-related issues.

e The mission primarily promotes extra-
long staple (ELS) cotton varieties, which
are used for high-end textiles and have
significant export potential.

e This focus aims to reduce India's
dependence on ELS cotton imports while
enhancing the overall quality of cotton
production.

15.

16.

17.

SN - ()

ATET : URYRS qRATY] RuaeRl &1 avE, THTHSNR

wAY] fiEed & wrEw @ Qe a1 exd € S

HATAT & SR Bl Ao T8l B & |

o DY doC 202526 H HINT URHAIY Foil A,
THGHAR & o1y e Ud f[adrd &l 3T g
R dfod 8 3R SABT & 2033 TH Ui Wi
THUHRIR SHhTSAT Pl ATl HIAT T |

o THUHIR Pl e o 7H fhar i Aahar &, fhv
Uh HREM H FhgT fhar S AdhdT 8 AR Arse
TR o ST ST |hdl 8, 9o 918e R 991 & |

o JS-Ie HIZHIRUFER AHd Bie Rudesi &1 ff
WISl B B &, S 1—20 AT faotell a1 @~
qhd 2 |

STX - (b)

AT : RA— IR I w0 4 o9 A

RIGIT &7 UTes BT 8, STl ANTRGAT Ara—fuar &1

arRear & FeiRa et 8 faRy w0 | ArRadr

A, 1955 # HEE & 91G |

o SHAI— ST W o s Rigid &1 ure
BHRAT B, STl ANTRGAT ST AH & FoI T4
ATT—ar & 997 9R 3menRd ekl 2 |

o TSI HrSl o dlell (gl &1 IfaR) g
I T 9T SRl ®, S ST @) eRadl W) a7
8Y &)+ @fh 1 ARTRSAT U &Rl &, a8
IS AT # ARG FB W 8|

o IYH Y IFRBI— HYh A IFRBT T WY
O |rell RIgid &1 9tes dRal ®, S 31U
AU & 14d HAMEF & FFAR 370 &5 H UaT
gY Bl 1 @Rh &1 ARG I R € |

ST - (a)

ANAT : DL ol 2025-26 § AT HUH

IATEHAT e ITa drenfifear iR d9re wgmdr

S AEgH W HUN SATEHdT H IR M IR died ¢ |

o JT fRIy ®©U ¥ "edl UER, ReRr Idre+ @i
STefary el gel Sl AT BT AHE Bl
2l

o MM T WU ¥ TR &UA (STATH)
oue fHell @I e <ar g e SuAnT
IR g & forg fear smar 2 &k R
fata @ Aecagel dwran € |

o U BIHH HT I HUNT IUTEGH B FTHT T[UTg]

B 4G Y YU HUNT AT W HRT Bl
fRAT BT BH BT B |
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18.

19.

20.

Answer : (d)

Exaplanation : The Ramsar Convention is not

limited to migratory birds; it focuses on the

conservation and sustainable use of wetlands
globally.

e While wetlands support migratory birds,
the treaty applies to a wide range of wetland
ecosystems (marshes, lakes, rivers,
peatlands, mangroves, coral reefs, etc.).

e Tamil Nadu leads India with 20 Ramsar
sites, followed by Uttar Pradesh (10 sites).

o Recently, Sakkarakottai and Therthangal
bird sanctuaries in Tamil Nadu’s
Ramanathapuram district were designated
as Ramsar sites.

Answer : (a)

Exaplanation : The Aadhaar Authentication

for Good Governance Amendment Rules, 2025

expands the scope of Aadhaar authentication

beyond government entities and select sectors.

e The new rules allow private entities to
use Aadhaar authentication for service
delivery, provided they follow a specific
approval process.

e This is a significant change from the
previous restrictions.

e The amendment maintains the voluntary
nature of Aadhaar authentication for
individuals.

e This aspect aligns with the Supreme
Court's directives on privacy and ensures
that individuals have the choice to use
Aadhaar for authentication or not.

Answer : (b)

Exaplanation The IMEC comprises two

distinct corridors: Eastern Corridor: Links

India to the Arabian Gulf via ports like Mundra

(Gujarat) and maritime routes and Northern

Corridor: Connects the Arabian Gulf to Europe

through rail networks and Mediterranean

ports like Haifa (Israel) and Piraeus (Greece).

e Mundra Port (Gujarat) is a critical node in
the Eastern Corridor.

e It serves as a primary Indian port for
shipping goods to UAE ports like Jebel Ali
and Fuyjairah, initiating the maritime-leg of
the corridor.

e IMEC’s infrastructure includes hydrogen
pipelines, electricity grids, and high-speed
data cables, but no oil pipelines.

e The focus is on clean energy (green
hydrogen) and digital connectivity, not oil
transport.

18.

19.

20.

8N ¢ (d)

AT : AR HA9F bdal Yardl gferai T AfAd

e € I8 Af¥aed WR WR AYH B ARET AR Fqad

ST R Bisd © |

o SAfd ATEA Fardl uferdl BT §HA Rl B, IS
| sy wRRerfaa! sonferai (eed, sid,
Afedl, dicds, Hulg, vara WRed, onfe) & was
fRga sf@en W aFL Bl 7 |

o TfYCIATg 20 IMER Il & AT IRA H T4 3
2, 9 d1¢ SR YW (10 I ® |

o T B H, Mg & IHATIYRA 7ol § Addvapies
IR ZfiTel Uell SPaRvAl Bl AR I & wY H
T fdam T o |

89X : (a)

AT : GIARH & U MR groiiaser |

M, 2025 WRGRI ARl SR FHET &F q W

3R FHTONHRYT & TR BT IR & 7 |

o U fm ool WRemell &1 da1 fIaRor & fom
JATER FHTONHROT BT SUANT B Bl AT <l B,
I 9 e fARMe SrgAeT Ufshar &1 urels &N |
g e ufadel | ve Feagel 9qaa 2 |
Heee ARRAT & folT e yATfIARo o Wiesd
UGB B §C 3G ¢ |

o UE TS MTHRMI R PWW 3 & fcwi &
Y 7 R gB gHAREa axar & & el &
URT FEONGRT & oy SR & SUANT xR AT
T B HT fAHeT 2 |

ST - (b)

TN : IMEC # &I 3eRT—3TeliT (iR enfiel &

gdT TRIRT AR T T (ToRTd) AR Tl A9 o™

IETMEl & ARIH W 3R I WEI A Sl 7 iR

ST TTeIRTS Yol dedd 3R 8RWI (SoRgd) 3R

ORI () I IR deTEl & A |

3R B WIS B WY F Sirsd 2 |

o 3T U (o) Ydi HINSR H Ud #gayul Ars
2 |

o IT TGA 3Tl AR FoikT I JUs dael ddb
AT 31 BRIt & forw va wrerfie wRdg d5vTTe
S WU H PR BRAT &, Sl TOR—IR & FHa—UR B
YBIATT BT |

e IMEC & IR @d # gSsioM UsdasT,
fastell frs @ik e3—iIs STl @ad efAa g,
ifeT BIg el UTgUeg TE © |

o WHIHA WB FHoil (A9 T iR SR
PRI W) B, 9 fb da uRagT |
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21. Answer : (c)

Exaplanation : Trade and Investment -India
and ASEAN have a Free Trade Agreement (FTA)
and collaborate on economic development.

e Regional Security -They work together on
counterterrorism, maritime security, and
cyber threats.

e Tourism and Cultural Exchange -Various
initiatives promote tourism, education,
and cultural exchanges.

e Space Research -India has collaborated
with ASEAN countries on space technology
and satellite applications.

e Military Alliances - India follows a non-
aligned policy and does not engage in
formal military alliances with ASEAN.

22. Answer : (c)

Exaplanation : The Generalized System of

Preferences(GSP) is a preferential trade program

that provides tariff-free or reduced tariff access

for exports from developing and least developed
countries to developed markets.

e It aims to promote economic growth by
encouraging trade from these nations.

e The GSP was introduced by the United
Nations Conference on Trade and
Development(UNCTAD) in 1971, not by
the World Trade Organization (WTO).

e WTO deals with global trade regulations,
but GSP is a unilateral preferential scheme
granted by developed nations.

e The United States suspended India's GSP
benefits in 2019, citing concerns over
market access restrictions imposed by
India on U.S.products.

e This affected over $6 billion worth of Indian
exports that previously enjoyed duty-free
access to the U.S. market.

23. Answer : (b)

Exaplanation : The Five-Point Consensus

(SPC) is associated with Myanmar's political

crisis following the military coup on February

1, 2021.

e It was proposed by the Association of
Southeast Asian Nations (ASEAN) in April
2021 as a framework to restore peace and
stability in Myanmar.

e The key points of the consensus
include an immediate cessation of
violence,constructive dialogue among all
parties,mediation by an ASEAN special
envoy,humanitarian assistance, and a
visit by the envoy to Myanmar.

21.

22.

23.

ShAEN(e)]

TN : IR AR 99 — 4R IR R & 9=

b AR FHESIAT (THE) 3R T e e w®

HEHAT B B |

o UGS &A1Y GRET — J HHST {ReT, el Fref iR
ATgaR FRET W B R ¢ |

o WA IR WiGfe RuT—weg — faf=
RfAe gdeH, e ok Apiad IRoT—Heel o
geTar far ST 7 |

o UA 3ARET AU — WRA 1 URRITg <2 & fory
3faRer IuUE IR SUUE SUUE HT AT fhar 2 |

o UA U Modgd — R Y fRuel ey &1 urerd
FHIAT & 3R TRET & AT M § Todud #
eNfe T8l BT 2 |

8N ()

ST = ARG G-I JoTelT (STl Teh aRoilal

IR BRIHH © o el IR &9 JaiRya qel

¥ fomfia skt § Fafd & forg SRe—g® a1 @A

cR% Ugd Ya SRl ¢ |

o SUD I 3 <V F AUR Bl WA PRD
anfdies fdwmT @1 ggrar <7 7 |

o SIUHY &1 1971 ¥ fIvg SUR HTeT (SgLIai)
ERT 78, dfch AR AR AP W G I
FHAT UAAICITS!) §RT UeT faar a7 o |

o SYCRI dRTs AR Al | Fuedr g, ofe
Sigedl faefid <9l gRT &1 T8 Tharw! dvole!
AT B |

o YH T IFIRBI 1 ARA §RT FHRDT ITUTET TR
SN ¢ 9I9IR gg il UR fidrel 1 sarell
<d U 2019 H WRA & SHUAl oM™l & fFeffad
PR fear o |

o UV 6 fAferm SR A ¥ qou & WA
Fafd saifad gy, e el sPiRaT aeiR |
Yeh—qh Ugd e off |

IR ¢ (b)

ATET : g AT FeAfd (59 1 wRas), 2021 BI

I TEUee & 9% WAR & qoHiad dahe |

I 2|

o U 3 2021 H ST yd URRIE T B HISA
@) gRT =R # wifd iR Rerdr 981 o
& o U SUvEr & WU H yRdifda fhar T o |

o M Weul & WW fdgall # & &1 doprd
IR, ) ell @& < IS dradid, MR
% IRy g §RT #eaReydl, AFARI HETIdT 3R §d
ERT WMR &1 SRT AHA B |
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e However, the implementation of the 5PC
has faced challenges due to Myanmar's
military government's lack of compliance.

24. Answer : (a)

Exaplanation : The Economic Survey 2024-

25 emphasizes the need for a single-window

clearance system to streamline business

approvals and enhance the ease of doing
business in India.

e The survey advocates for simplifying the
Goods and Services Tax (GST) framework
to improve compliance and reduce the tax
burden on businesses.

e The survey does not explicitly recommend a
gradual reduction in corporate tax rates.

e Instead,it focuses on other fiscal measures
to stimulate economic growth.

25. Answer : (c)

Exaplanation : A fiscal deficit occurs when a
government spends more than it receives in
revenue.

e Factors that can contribute to an increase
in a fiscal deficit include:

e Increased government spending: Spending
on programs, infrastructure, and defense
can increase the deficit.

e Lower revenue: Ineffective tax policies, tax
cuts, and low GDP can reduce revenue.

e Economic downturns: During recessions,
governments may increase spending to
support the economy, which can widen the
deficit.

e War or natural disasters: These events can
contribute to a fiscal deficit.

e High debt levels: Governments may need to
allocate a significant amount of resources
to debt servicing.

e Social welfare programs: Spending on
social welfare programs, like Medicare and
Social Security, can increase the deficit.

e Taxstructure: Ataxstructurethatovertaxes
low-wage earners and undertaxes high-
wage earners can contribute to a deficit.

e To manage a fiscal deficit, governments
can: Cut expenses, Raise taxes, Boost
exports, Improve competitiveness, and
Attract foreign investment.

26. Answer : (c)

Exaplanation : In India, retail inflation is
measured using the Consumer Price Index
(CPI)combined, which tracks the price changes
of a basket of goods and services consumed
by households.

24,

25.

26.

o EAIP, HAR B I WHR & ATl H HHI
% HROT 5URAT & BRI DT ATl BT AT
HRAT TST 2 |

SR : (a)

RAT : MfAH FdeToT 2024—25 H WRA H ATIAID

THHIRT BT GraRerd T IR AR FR H AT

M & oIt Udha—Rasat HsRI Toumell &1 Tagddr

R SR fear T B

o I T H FUIR R Faardl W IR & drg
B HH B D oy AT AR Har wR (Sgae))
T BT GRS 9 BT IhTeld HRal 2 |

o JETUT H WE WU | PIURS PR TRI H HiAd HHT
B RIeIRer 78 o TS 2|

o UGB guIl, IE INMAP fadrd &I Uiefed &xd &
forg e ST U WR &4 dfad dRar € |

8N : ()

HRAT : IASTHIE TTST T4 BT & 9fd AXBR o

H T ¥ | SifSd @d el B

o IGIPINY TS H gfg § AN < drel HRDI A
A B

o WREHR & I AT WY HRIHAL AT T 3R
RET R Wd " Bl 98T AhdT ¢ |

o T ISRIS WG] B N, B Bkl iR HH
SN Yo BT HH B dhd 2 |

o fYp ALY HE B IR, TRAN IRfgawR &I
Taefe v & e W 9gr gl € R g1
93 AhdT 2|

o Ig I WPHlid AU I HeA ISThI¥Y °re §
IR B Fhd! & |

o T U WK TRBRI BT 0T HaT & oIy G
B VP He@yol T AMECT A Bl STaeahd
B FHhal B |

o JMINTHG BT HRIHTS HSHIR R AHINTD
JRET S IS HedToT BRIHI TR T PR
| °TeT 96 AHhaT g |

o TN WRTAE UPh HR ATl Sl HH I U drell
TR 3NfF B A ® MR Sed Ia= U dral WR
PH B MY ®, T H ANTE PR Ahal 2 |

o IISTHIYRT ©TC BT TeeH HRH & foTT, TRBN I B
bl & WAl § deldl Y, B ded, fFrafd 9grd,
fcret § R N iR faael faer aefia o |

ShAEN(e)]

AT © ¥Rd H, YaxT JERBId bl IUHIHT Jed
GABID (HGIRIS) HYh BT SUANT B AT ST
S BRI §RT SYFRT 1 S aTell awgali iR Hamsil &l
TEh S & oI Radsl &l ¢F dal 2 |
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27

28.

29.

30.

31.

e CPI (combined) is a composite index that
incorporates price changes from both
urban and rural areas.

e The Reserve Bank of India (RBI) has set
an inflation target of 4% with a tolerance
band of +/-2% (i.e., 2% to 6%) under the
flexible inflation targeting framework.

e This target is applicable for the medium
term.

. Answer : (a)

Exaplanation : It is a near-Earth asteroid with
a very high probability of impacting the Earth
in next 50 years.

Answer : (d)

Exaplanation Headline inflation includes

all items in the consumer price index (CPI),

such as food and energy, which are subject to
volatile price changes.

e Core inflation excludes food and energy
prices to provide a clearer picture of
longterm inflation trends by removing
shortterm volatility.

o Therefore, core inflation is considered
a more stable measure of underlying
inflation trends because it is not affected
by the temporary price shocks.

Answer : (c)
Exaplanation :
conditions

Management of chronic pain

Answer : (d)

Exaplanation : Article 87 of the constitution

provides two instances when the President

specially addresses both Houses of Parliament.

e The President of India addresses both the
Rajya Sabha and the Lok Sabha at the
beginning of the first Session after each
general election when the reconstituted
lower house meets for the first time.

e The President also addresses both the
houses at beginning of the first session of
each year.

e Suzetrigine is a drug developed for the
treatment of chronic pain conditions,
particularly neuropathic pain.

e It works by modulating specific
channels involved in pain signalling.

ion

Answer : (c)

Exaplanation : Aegean Sea an arm of the
Mediterranean Sea, located between the Greek
peninsula on the west and Asia Minor on the
east.

27.

28.

29.

30.

31.

o UdiaTs (WYh) T FHY GAPIP © Ol AU AR
2l

o TR Rd d& (QMRERMES) 7 o=l GBI
FEINHIT TT B d=d +/&2% (A, 2% H 6%)
DI AT 98 & AT 4% BT GEDId &g
feiRa f&ar 2

o T V&g HegH (A & forg oL B |

89X (a)

AT : I8 Th Jedl & Mpead! g © s
3Tel 50 ANl # Yodl | THI Bl 9gd SfeH FHIaT
gl

IR - (d)

AT : TSclls DI H IUHRHT oI FaDID

(CPI) @ |t axqq =i € o & @re &k S,

ST ARer e uRad=t & i+ 2|

o DR YIRGI Heudiicid IIRRAT B R
a1 gerepifa gghrdl & We T@R UeH
PR B foly @RI SR ol B Bl BT aTER
TN B

o UMY, HR FIRWIfd I Ifdifed oI
yaferlt &1 fdres ReRr Surg AT SIrar ® 99ife
TE IR A ICHh 9 gAIfAT Tl Bl 7 |

SilEn(e)]
QATT - HIfH <c b RAfd &1 veeH

SR - (d)

TR : HfI & TJees 87 H al Y IR fay

U § 9 YT e © aHl dedl @f Ry wy |

FaRT P 2 |

o WA & U Ud AW FAd & a1 Ugel T3
BT YBIMT H ISATAT AR AGHAT S BT HaIE
T BRd €, 9@ gAiiod e Wed ugell dR
fierar 2|

o RTCURT YD dY & Usel T DI FoaATd H AT S+l
HeAl B FAMSd B © |

o Joifef U aar & O gRI1 &= &1 Reifd, famiy
®Y A RIS 5 B STAR & forg s faar
AT B |

e UT T Wadd # wifd faRre e dMal &I
AT D P BRAT & |

ShIAEN ()]

ARAT : TR AFR R 9FR 6 U6 aRdT 2, S
ufem # M dFg IR gd # gRrr ArgR & 9 Rerd
&
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32.

33.

34.

35.

36.

37.

e The Aegean is connected through the
straits of the Dardanelles, the Sea of
Marmara, and the Bosporus to the Black
Sea, while the island of Crete can be taken
as marking its boundary on the south.

Answer : (d)

Exaplanation : The GST has five key tax slabs:

zero, 5 per cent, 12 per cent, 18 per cent and

28 per cent.

e A compensation cess,ranging between
1 per cent to 290 per cent, is levied on
demerit and luxury goods over and above
the topmost rate of 28%.

e The GST revenue collection in the country
is showing positive trend but it is not rising
consistently month-on-month.

Answer : (b)

Exaplanation : Apogee is the farthest point,

and Perigee is the closest point in an orbit

around the Earth.

o The speed of asatellite is minimum at
Apogee and maximum at Perigee due to
the conservation of angular momentum.

Answer : (a)

Exaplanation : VSHORADS is a 4th generation,

short-range, and man-portable (MANPAD)

system, not vehicle-launched.

e [t is designed to intercept aerial threats like
drones and aircraft, not specifically ballistic
missiles.

e The flight tests involved high-speed targets
flying at very low altitude including drones.

Answer : (d)

Exaplanation : US President Donald Trump
hasestablished the Department of Government
Efficiency (DOGE)with Elon Musk atits helm to
implement his DOGE Agenda, by modernizing
Federal technology and software to maximize
governmental efficiency and productivity.

Answer : (b)
Exaplanation : Article 112

Answer : (c)

Exaplanation : The Prime Minister Dhan-

Dhaanya Krishi Yojana includes a focus

on food crops as part of its broader goals to

enhance agricultural productivity, improve

food security, and support rural farmers.

e Cash crops are an integral part of the
scheme,aiming to boost farmers' income.

e Crops like cotton, sugarcane, and others
typically grown for commercial purposes
are also supported.

o TURTH AR Siercd, TRART IR IR dRURT &
SASHGHE & HEgH ¥ Pl AFR A Gl 8
STafds @l g1 DI SR H /D! WA & w9 H forn
ST ST 2 |

32. ¥Ox : (d)

AT : SIYES! H UiF U™ R w®id 8 g, 5

gfererd, 12 uforerd, 18 Uferd @R 28 wfrerd |

o NfRr W 290 Tfcrerd & 414 erfergfcl IudR, Sraor
AR faafyar @ aegell W= 28 e &1 IzadH
R B AfIRD T ST 2

o T H SNUHS! Vod T AHRIHED B fewm
BT B, Afhd I8 TE—er—FeH AR T8} 9%
& B

33. SN - (b)

AT - Ydl & aRI AR B el H AUISl AIH X

1 fdg 8, 3R uRSH we¥ Meedd fdg B |

o HIUY TfT & GREVT & BRI IUYE bl I 37Tl
TR RATH 3R RS W fdamdH B 2|

34. <N : (a)

ATl : VSHORADS & Rl 4Ig! &1, &9 X &l

3R AFg—UIcdd (MANPAD) UoTlell 8, S d18< 9

geifa el Bl |

o U fIOIY wy ¥ IfciRed A"l @1 728, sfew
S99 3R T S BaE WaRl B Abd b U
feorms fovar mar 2

o TSH e H I Aled 980 BH Hdls W IS
qrel $oa I aTel & efHet o |

35. 9N - (d)

AT : RSP LI SHeS o H IRBRNT
SETT 3R FCUTGHAT B 3Mfehdd PR b [y Herd
TENfa] 3R AIFCIIR BT IMYTDHIBIUT PR AU
DOGE Tol$ &I & &) & oY e A% & q<d
H WRHN gerar fART (DOGE) @7 RITaT &1 2 |

36. SR : (b)

AR : 3Tee 112

37. SN (o)

AT : JOHAT gHA-aT BN A A P

SATEHAT IGM, T GREAT H FIR A 3R AT

ATl BT BT USH &R & 39 AP e B

RW & WU § WY Bl R & died fbar 7ar 2|

o TPhal B T AGHl Bl TH I~ T g,
RTIdT 9220 fha™l @) M BT dg[r <1 2 |

o FHUN, T 3R MH AR W IIR® Seedi &
foru STE O 9rell 3T Baell Bl W FErr
g™ P S B
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38.

39.

40.

e Horticultural crops, such as fruits and
vegetables, are a key component of the
program.

e Theschemepromotesthecultivationofhigh-
value crops to improve farmers'economic
conditions and provide nutritious food.

Answer : (a)

Exaplanation : The UDAN (Ude Desh ka Aam

Naagrik) scheme is an ambitious initiative by

the Government of India aimed at enhancing

regional air connectivity and making air travel
affordable for the common man.

e Launched in 2016, the scheme seeks to
connect underserved airports in tier-2 and
tier-3 cities,as well as remote areas of the
country, with major airports.

e The scheme covers not only regional
commercial aviation but also encourages
the development of helicopter and seaplane
services.

e It aims to make air travel accessible to
people living in smaller towns and cities,
thereby promoting tourism and economic
growth in these regions.

e The high-speed railway transport is not
covered under the UDAN scheme.

Answer : (c)

Exaplanation : The NVS-02 satellite is a

part of India's NavlC(Navigation with Indian

Constellation) system.

e NaviC is India's indigenous satellite
navigation system designed to provide
accurate positioning services over the
Indian region and its surrounding areas.

e The NVS-02 satellite is equipped with an
indigenous Rubidium Atomic Clock (or
Rubidium Atomic Frequency Standard).

e This clock is critical for ensuring the high-
precision timing required for -effective
navigation services.

e The term "indigenous" highlights that the
technology was developed domestically,
which aligns with India's efforts toward
self-reliance in critical space technologies.

Answer : (c)

Exaplanation Paul Kagame, a former

guerrilla leader, has played a significant

role in modernizing Rwanda's economy and
strengthening its military.

e Under his leadership, Rwanda has become
more economically stable and has built a
wellorganized, disciplined military force,
which is now seen as one of the strongest
in the region.

38.

39.

40.

o NI Hd, WY Bl IR AfoTdl, 3 HRIHH
HT TP YI °9Ch © |

o UB oM Ml BT i Rafd # GarR oM
3R Uifted AT Ua™ &R & oY Iea 73 arell
HEA] BT A BT ST <l 2 |

SR (a)

TN : ISH (ST < BT 3MH ANRS) IIT AR

WBR B Uh AsdIHiel el & RNNar Se3d e

gATs UH BT g1 AR MH MeH & forv garg I

B TRAT T 2 |

o 2016 # Y& B! s 3A IO HT Seed < &
feaR—2 iR feR—3 W’ & ARI—AT TR
& el # HH G aTel BaTE STl B U gATS
IrESF A ST B |

o U AN § 7 Had &= afvrgd fam=+ ®f
A fhar a7 8, dfed Telldrex iR el
Jarstl & faerT @1 ¥ deared fhar

o IIP ITIY BIC WXl AR Bl § Y8 drel Al
@ fore gar$ A= & God g1 B, R 39 &t
H e &R e fawd &1 gerar et |

o TS Yod URaed SSH ISl & IAcd
onfe T8 7

83X ()

ATRAT : TAAYE—02 SUUE WRd &I e (R

qeTH B A1 AT WOTell BT U T § |

o TG WRA B WU SUUE AfYE yvmel g
R IRART &1 IR IS AU & &1 H deid
Rerfar Sard ug o= & forg feomss fvar
=

o TTAIUE—02 JUYE WY BfAfSTH WRATY Tl (AT
SfAfEam wRmy SMgRy A1) & gafoerd 2 |

o UT TS TWIAI AfFIRE wawrh & fou sravas
STI—Acid AHd GHRad &1 & foy Agwagul
=

o wWEN UL TH I W UBRI Iadl © &
AENfra! & 'el R W fAefaa fear T o
S wEayel fdRer drenfifeal & srerfiar &
e 4 wRA & YN B FIHY © |

ST - (o)

AT - Ufd BN, Uh gd Reell =dl, o aier &

JFfRRT B AP I 3R FHD! FAT DI TG

aﬂﬁﬁﬂ—ﬁl{lﬂ‘r&ﬁ’cﬂﬁﬂﬁﬁl
S® Tcd H, Jarer e wu ¥ e Rer &l
AT B 3R I U JIdRerd, JJRd 3= 9
®1 foHfor fBam 2, O 319 39 &3 H§ a9 Joigd
HET ST 2 |
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41.

42,

43.

e Rwanda has been accused of backing the
M23 rebel group fighting in the Democratic
Republic of the Congo (DRC).

e Both Congo and United Nations experts
have reported that Rwanda is involved
in the conflict,contradicting the claim of
neutrality.

e Goma, located in the eastern DRC, is
known for its vast mineral resources.

e Its strategic and economic importance
makes it a key target in the ongoing
conflict.

Answer : (c)

Exaplanation : The Pradhan Mantri Kisan

Urja Suraksha evam Utthaan Mahabhiyan

(PM-KUSUM) Scheme was launched in March

2019 and scaled up in January 2024.

e [ts primary objectives are to provide energy
and water security to farmers, enhance
their income, de-dieselize the farm sector,
and reduce environmental pollution.

e The scheme facilitates the installation
of solarpowered pumps to replace diesel
pumps, thus reducing dependency on
costly diesel and promoting clean energy.

e The target is to install 20 lakh solar-
powered pumps.

e The scheme aims to solarize existing
gridconnected pumps, including feeder-
level solarization, to reduce electricity
costs for farmers and promote renewable
energy usage in the farming sector.

e The target is to solarize 15 lakh pumps.

e The scheme encourages the establishment
of decentralized solar power plants on
barren or cultivable land.

e These plants, ranging upto 2 MW capacity,
can be set up by individual farmers or
in cooperation with groups like farmer
cooperatives, panchayats, or farmer
producer organizations (FPOs).

Answer : (b)
Exaplanation :
and technology

Oilseed processing capacity

Answer : (a)

Exaplanation : The World Trade Organization

(WTO) is based on principles that promote

fair trade, sustainable development, and open

markets.

e These principles include :

e Non-discrimination Countries should
treat all trading partners equally, and
should not discriminate between their own
and foreign products, services, or people.

41.

o AIST W HIN AlHhaAid ORI (DRC) #§ &€
T M23 faSEl @ g &1 GHE & @ MR
ST AT 2

o B AR FYH I Sl & faRivsll 7 Rure <1 8
& arer dod # Wi g, S dewdl & S &1
e HRT B |

e Ui DRC # Rerd wHr s faema @frs
e @ fow ST ST 2

o SUBI AMRF AR MF A5 A oA B A
# Ud W e g1 2 |

SR : ()

AT : JIEA [BAM ol R Td I

HET AT (fIUH—a5gH) ATSHT A 2019 H Y Bl T8

off @R ST 2024 H BT AR fHar |

o UM UG I Al Bl Foll IR o
JRETT UG BRATL, ID! A IS, PV &5 DI
S—3ISTdl Joh HIAT 3R GITIROT UGHUT Bl HH
BT 7 |

o JE NI IIoTd U B g & folv AR SHoff
J I dTel YUl BT WIYAT B GIAeT TS B!
g, o 987 Siote WR fiRar &9 8t § iR
TS Holl bl gTd Herdr 2 |

o TUPD &Y 20 oIRI AR FHoll A I diel Uy
AT B

o S IS BT S Hlrex—aidel ARSI AfRd
AoleT firs | 9 UUl &7 AleRigs wRAT 7, difh
frart @ forg fasTell @ A &9 81 8k T
P & H 3T FHoll & SUINT bl Jerdr el |

o IAG TEI 15 AN UGl P ATRISSl HRAT § |

o IE IIGHI dOR AT Wl AT YA R fAd=zilpa
IR Sl FIAT B RATYAT BT AATed Bl 8 |

e 2 TAMEE &HAT ddb & I [IF AR oAl
gRT T fham TgarT afafodl, demadl a1 feam
IAED Al (THYIRN) ST el & T8 Ao
zerfid fby S Gad 2|

42, SN : (b)

AT : folgd IRIEHROT &9aT 3R Wl

43. I : (a)

AT : fIza AR FTe (Seycian) s+ Rigidl

JERT & S e AR, Jad f[9eRT iR Gl aoiRl

Bl 9QaT < B |

o IR-WEHE I BT I AUIR® ARIERI & AT
T FagR BRAT ARy iR eroe 3R fageh
IR, AAR AT AN & A Wi d T8l BT
RY |
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Market access : Trade flows should be
open and predictable, and trade barriers
should not be raised arbitrarily.
Fair competition : Unfair practices like export
subsidies and dumping should be discouraged.
Transparency : Information about trade
policies should be available, and the
dispute settlement process should be
transparent.
Special treatment for developing countries
Developing countries should be given
more time to adjust, greater flexibility, and
special privileges.
Environmental and social considerations:
Trade should be sustainable and consider
the environment and society.
Dispute settlement: Disputes should be
settled through a multilateral system of
consultation, arbitration, and panels of
experts.

44. Answer : (b)
Exaplanation : The US Dollar Index (DXY)
measures the value of the US dollar against a
basket of six major foreign currencies.

When the index increases, it means the
US dollar is appreciating relative to these
currencies, making it stronger in global
trade and finance.

This often happens when investors see the
US economy as strong, or when there is
higher demand for US assets like Treasury
bonds.

A rising DXY indeed reflects a stronger dollar.
The US Federal Reserve does not control
the Dollar Index (DXY).

It is managed by the Intercontinental
Exchange(ICE), which tracks its value
based on foreign exchange market
movements.

The Federal Reserve may I influence the
index indirectly through monetary policies
(e.g.interest rate changes), but it does not
set or manipulate the index itself.

The Chinese Yuan (CNY) is not a part of
the US Dollar Index.

The index is composed of six major
currencies, which are :

Euro (EUR) - Largest weight (~57.6%) ,
Japanese Yen (JPY)

British Pound (GBP),Canadian Dollar
(CAD),Swedish Krona (SEK),Swiss Franc
(CHF).

The index was created in 1973, before China's
currency had a major role in global markets.
The Yuan is not included in the index, even
though China is a major US trade partner.

IIGIR Ugd UR Yare Gell AR Yargania s
AIRY 3R ATUR a3l BT AH ST H Fal qerdT
ST =AM |

e wforaet fafa afsae ik St S srgfad
YeITel ®I BaIRd T STT aTfey |

IRERIT @R Al @ IR # THeNT Sudter
BT ARy &R faarg fMue™ wufthar uresft g
=1RY |

fapree <ol @ fou fOy SR faerie
<N B TR B & forw ifde ww7a, e
A 3R faRy faRwfer faw S =nfev |
QRO IR AT fdaR @R fedrs, 8T
IR R TATAROT IR A R IR =7 Ay |
faare e faaral & uRmel, AeRerdr iR faewst
& Ul 1 Ui TOTTell & HIEqH ¥ JerstaT STem
=M |

44, SN : (b)
AIRAT : YT iR s (DXY) B8 T fa<d garel
BT B B Gblael JUF SleR & Fed Bl AU ¢ |

9 SS9 98T &, A1 SHET Adad © fh Jud Sfer
T Yol & Avel 98 8l B, o g8 dRad
R 3R fad # Ao &1 W& 2|

T JTRR I BT & o9 [derd gue sfeiegase
BT Aol AT ©, I 99 SOl dive SR Jud
gR¥uRral @ ifdd AT Bl B

U el B3N & aRad H UP Holqd SIeR DI
gorfer 2 |

IUE Wevd Rofd SfeR gsad (DXY) &1 Fafa
TE PR B

AT U§eH gexdi-ericd vaaaal (ICE) gRT fdhar
ST B, ST facel 98T iR @1 it & MR
W 3D Jod B $F Bl 2 |

tevd Rord Aifgd el (O &t < # 9gera)
P ARIT YT BU I s bl yHIfdd BY
bl &, olfh I8 ST BT ¥ FeiRd T BB
el IR B

AT o (CNY) Iu9 SfeR S04 o7 R 81 g |
[AHid e TE JeRll 3 997 8, ol €

R (EUR) — Ha¥ 99T R (57.61), SOl I
(JPY) ¥ fafeer urse (GBP), #1STs €feR (CAD),
Wfeer o (SEK), Ra W& (CHF) |

JABIH 1973 H AT AT o, SH UgA A Pl
o1 o1 d¥ad IRl 3 99 AT o |

J3NTT BT GaABID H WA el AT T 8, el &
I Ud THE SRS AR 9ITER B |
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45.

46.

47.

48.

Answer : (b)

Exaplanation : Article 324 of the Constitution

of India provides for the establishment of the

Election Commission to supervise, direct, and

control elections in the country.

e Election Commission ofIndiais responsible
for conducting elections to the Lok Sabha,
Rajya Sabha, State Legislatures, and the
office of the President and Vice President.

e The CEC can only be removed by the
President of India through a process of
impeachment, which requires a special
majority in both Houses of Parliament,
similar to the removal of a Supreme Court
judge.

Answer : (b)

Exaplanation : Blood cancers begin in the bone

marrow, where blood cells (red blood cells,

white blood cells, and platelets) are made.

e The cancerous process disrupts normal
blood cell production.

e The three main types of blood cancer are
leukemia, lymphoma, and myeloma.

e Bloodcancercanbecausedbyacombination
of genetic and environmental factors, such
as exposure to radiation, certain chemicals,
or viruses.

Answer : (b)

Exaplanation : Fentanyl is a potent synthetic

opioid drug approved by the Food and Drug

Administration for use as an analgesic (pain

relief) and anesthetic.

e [t is an analgesic and not approved as a
powerful anti-histamine.

e [t is approximately 100 times more potent
than morphine and 50 times more potent
than heroin as an analgesic.

Answer : (b)

Exaplanation : A breach of privilege occurs

when an individual or entity disrespects or

obstructs the functioning of a Member of

Parliament (MP) or the House.

e A privilege motion can be moved by any
member of the House, not just the Speaker
or Chairman.

o The Privileges Committee is headed by a
senior MP, not the Prime Minister.

e Breach of privilege is not a criminal offense
under the IPC; it is dealt with by the
respective House of Parliament.

45, SR : (b)

46.

47.

48.

AT : ARG GQU™ B AT 324 H < A

JIATT B RATIAT BT YTGET 2 |

o WRA G FAT AN AGEH], TR, I
faemamRl @R Ul IR SURTEURT & BRI
% forg gm@ &M & forg ReER B |

o URA & UM ERT Y= FAd AR[hH P b
HEIRANT &) UihaT & A1E0d | ESRIT Ol |l &,
s folt ¥9e @& qM1 deAl A IRy 9gad a1
JMATIHAT BT &, ST Faied ~IRTed & IS
Pl BSH D THME 2|

ST : (b)

QTN : I DR AR 7Aoo # YwH Bl 8, Tl Th

PIRBY (AT [h HIRTHN, IId Wh BIRIGHN R

Ticelcd) g9 § |

o W DI UfhAT AWM ThH PINGET IUGH I
T Bl T

o I DWW B dF & UBR & gabiaa, formhm
IR ATRIAT |

o T DR IMFARH R FATARVI BRI & FAToIT
@ PR B Fhdl 8, oI [AfHRVI, FE AR™T AT
qIRE & AUD H AT |

ST = (b)

ATRT : HeAge U wfhemel Ridfes aifisigs

Tar & O™ @rer ud sivfy memed gRT UATeaiRTd

(@< faR®) iR tRAfed & ©u # Iy & forw

SrgAIfed feram T 2 |

o IT UH UdleulNid T R weh  wrhhemmed
TE-R¥emEd & wu # rgAIfed wEl 2

o IT TATOINI®G & ©U H Hfbd I T 100
AT 31 TRBRIEl IR BRIST W 50 AT AfIw
IIRREme B |

ST : (b)

ARAT - fRWEGR &1 oot d9 &l & o9 DI

Ifth I1 R A AR (THY) AT A & BEET

BT 3FTGR HRal & AT SHH 91T STerdl © |

o fRWIIGR W Aeq & fohll W a7 gRT U
far ST Adbar 8, 7 & daer sreme a1 gmfa
gRT |

o fIRIWIRIGR AT BT e Y= &1 gfcd T
aRss A¥E &R & |

o fRWIIAR &1 Jooigd MU @ TEd UH
JMURTSG IR &l & S0 GAE & Adferd A
R uerr ST 21
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49. Answer : (d)

Exaplanation : The case of A.K. Gopalan vs

State of Madras (1950) is a landmark judgment

where the Supreme Court interpreted the

scope of fundamental rights under Articles

19, 21, and 22 of the Indian Constitution.

e The Court upheld the validity of preventive
detention laws while emphasizing that
the procedure established by law under
Article 21 must be followed, even if it does
not necessarily conform to principles of
natural justice.

e The case also touched upon the restrictions
on fundamental rights under Article 19.

50. Answer : (a)

Exaplanation : The repo rate is the interest

rate at which the Reserve Bank of India (RBI)

lends money to commercial banks.

e A decrease in the repo rate typically
makes borrowing cheaper for businesses
and individuals, pointing towards a
expansionary monetary policy.

e An increase in the repo rate typically
makes borrowing difficult for businesses
and individuals, pointing towards a
contractionary monetary policy.

Qg

49. IR : (d)

AT - IRAT b, AT 991 A5TH 99 (1950)

&1 A Uh Ve fAoig 2, foRe datza =marerg

qJ IRA G @ srgEee 19, 21 iR 22 & d8d

Aifelds SMIGRI & SRR &I ARAT BT |

o IR A AR® R ST T Jerar bl RAIR
@, SEfh 39 9 W SR fear f6 srgwes 21
% d8d B gRT AU UlhAT BT gre fam
ST =1(2Y, 9ol 8 98 Wpide = & RAgidl &
T THY 7 B |

o T I H AT 19 & dad Allcld BRI TR
gfergel R W faR faar T

50. SN - (a)

HTET : T &3 I8 791 &% & o1 R IR Rord

9% (QMRdAIeTE) a1fofie d®f &I U491 SUR <l 2 |

o YOI X H FHHI W I IR W JqAr AR FRpl
P foTT SYUR o1 A% & WAl &, S faRaRars)
Aifed AT BT 3R IRT HRAT B |

o U R ¥ g W AW IR W Fa9Al AR ARKAl
% T SUR T gR&a 8 ST &, S AGaTdRl
Aifgd N A 3R SIRT BT 2|

g
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